~ T e ——

T ayor _

A s rfteron qfereT

THH &y —

Terur gt
0130143 A=y Iﬁ"w LT

10.

e e !‘{W‘f‘ﬂ?ﬂ

_— LA
?mmmmﬁ%%mm' a‘”““‘&wgﬁmﬂﬁmaﬁmmﬁﬁsgﬁﬁﬁm
aa?-;ﬁ| bl oo AT Wi AR A E | wfe v @, @ T ey werr e |

Foar & @ B OMR Swe-weres 3 v qderor

e - - AT R v kg

SRR Y # | Rt oty < /ity o ferf o e foe wRe fRa s |

T e IR R § Ry T e o s o

Wﬁ@m%!ﬁmﬁwwaﬂrwaﬁﬁ| Feb5 399

mq:hmg%mi[lsomr () 3 vl g e ¥ WA AR WT-B | 9T-B H gAE

yeiyr o=t s sHiSit AT # wr # | vdeh e A IR R (IW) By ¥ | v A

TIER W A A, B oy Sor-vme wosifsa e e € | ol e g o 5w ¥ aiftre

TR el €, ol Iq WGOR ol 3ifthd o St v wawm ol | gee i & oy #a

T B IR A @ |

%Tga?raqi’fw‘i‘u?gﬁtm%mmm-mwﬁaﬁﬂmﬁlw-mﬁ&qmﬁém

|

HHT VAN % 37 qHH |

T qest 6 ana wderor i & ffira weai % week IOR-HE WifRT aRAT Y W, A

S ST & R SigRN & AR I R SoR- 1 A R

T A9 Y EgRRY Y IR -TA A T & G qAT YA & W R FAA JaC-wmF Aefers

1 T T | el g T ghen giers @ S Igai @ |

F=% T F fore e, wer g % o # @ € |

Trera gt & ferg €e

agfires Wy -Tet 3 grfear g fag g e Se % forg &5 R smom |

() v&F WA * fog wr A IR E | IRlicEaR qrn s v & g fg m ww s
IR ¥ fru we ¥g Fraa fre o s @ ww-faemd <8 F w0 # wrer s )

Giy af @ rfiear w R ol ST 3 €, A R T ge W s, Fafy f e g #
A T I w o ¢, R oft 9w e F for SR &, st ae @ g R oo |

Gii) afy gefgar grr @ WA v e R S R, sy Sweficar grr e e far sman 2,
A 3@ we % forg =Yg g = fean smom |

T a% TIEr qg gV GierRt AT B T FET AU a7 aF T @

Note : English version of the instructions is printed on the back cover of this Booklet.



— Y 5 b

LY ' M ) i “w o,
vl w J. = ..» “: W) ?_
w W ...w O 5— = .
il 888 A
(R g™ 8 b e
vl __ o ﬂ.. .m.w - ._.u,.\." )
ao W ,— \ p : 5
o Jd % i 4 H
o ) ._ v
Al [ i g '3
B g (T _ v f
A b o 3 oo
by g oS " h @
i 482 : Bs
i3 s ) w i ." @ W ]
TR Y T A4 §
il @ % R vp/. - P .__—_ e s
b ; W ~ t M i .
N w_.. & ,..,_ L b B H x| ! I oh v m_ I
W iy A L e T -n m e ¥ “ ...n ..u ] »
LN H 4 ; oy S 0 & _ 5 WL, w_.
TR & I iy _M_m ul I iy ‘= [ ._m t) i o .—.,"
2 & "J ] = ..._ d # J 1 - m
i L. B E\2 G IR I A ‘
[ L] . .
N o8 . oo\ IR = e e = 2 5 B3 0 &
& R » % S CONC NERORE & & & ¥ H 8 e u U
€ g o
ﬁ .A_.d
| w W
W [
b B
pet = -
. f- -
b 7 W W s e
R ”_._“ Eh :._h V ok oW w
< Ui : NER
i oW Yo PhS b
B w. o B o 8 __.h. !N
a “hed = v 5 .
i .M rw ”w_ : - ) m
"1.. w. o —..".m uw _w _C =
ey L . 3 - - [
- S I © ™~
&8 ."...a .Jw ) J_ruu -y r. " ML o
o U b B ooy g
”r. B oef n oW i) ’ nnmu =] )
rls Wr. i .Ma— o S, v.' v m " G .n“..
sis ¥ i) § o o Sybe &
24 g " g = > RN E e o9
Y s o~ I " e , B ¢ L 3 ﬂ b ©
O & y i = ™ o o = §
.. Mc.. y (2] W, 1) .4»“ ™y ~ :'..A ..w...J L 3 ... mc,. ..m o _
o |8 o 8 g 8 b= SO - g8z o B &
5 < N ¥ "B 3 S F N o5 9 Fas o 5
“r,u & o W." wm b Du. - (S £ T L wed ‘w W F~ A_m Fw
i 8= b ow "o gy = &
w ah ’ o~ e 6 p—~ - 5
h- -~ - oy o > [ ~
3 & EgTI |E3 FET 2 §E&ECTE |§Ee & & 0
- ey ‘ - z & »
e g bd m



8.

11.

12.

13.

_‘ --‘-'--.-'---‘—-—....___! nyLl n{:e X
physician tg have 3 o . " consult 4
the disease is about, ‘42 of what
(a) In that cage
(b) In these Case
(c) Likewise
(d) Henceforth
————__, in the yg,

the culrrent account defic
$1:3 billion or 0-2%, of the

420 period
It stood at

(a) Paﬂ;icularly
(b) Notably

Directions :
Identify the most appropriate o

instance, and mark
Infelicity :

(a) Disloyalty towards one’s nation
(b) An inapprepriate remark

(c) To kill or destroy

(d) To touch or push gently

Corollary :
(a) Something that is too expensive

(b) Something that looks real but does
not really exist

(c) Something that naturally follows

(d) Something resembling a coal mine

Quandary :
(a) Situation in which you are
confused about what to do

(b) Situation in which two people or «

group argue

10.

14.

15.

(c) Seriously

(d) Unknowingly

, the records have been
completely undermined by shoddy
book-keeping.

(a) Because of
(b) As such

(c) Forever

(d) Hence

Given below are words/expressions/jargons followed by four options.
ption that defines the word/expression/jargon in each
your response accordingly on the Answer Sheet.

(c) Situation in which no progress can
be made

(d) Situation in which a relationship
becomes friendlier

Presumption :

(2) Prediction based on past experi-
ences

(b) Judgement made with certainty

(c) Decision based on facts

(d) Opinion formed before having all
the facts

Smug :

(a) Too confident about one’s own
achievements

(b) Too eager to help or obey some-
one important

(¢) Too emotional or dramatic
(d) Too eager to bottle up conflicts

C — TODC-T-GAT
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Directions : Read the following passage carefully and answer the items that follow th
passage. Your answers to these items should be based solely on the passage.

Can agricultural productivity meet human needs in the long run ? Since twentieth century
advances, given ncreasing costs, do not seem sustainable, further increases in output will
not be achieved easily. Global population growth, while showing signs of slowing do‘f"n’
bas pushed farmers and herders into areas unsuited to intensive agriculture, accelerating
worldwide ecological disruptions. Reserves of arable land and fresh water have diminished
alarmingly. Chemical runoffs have compounded pollution problems. Invasion of natural
habitats have hastened species extinction. Desertification has been severe in the last
hundred years, especially in North Africa, southemn portions of Africa, Australia, northern
Mexico, and the American Southwest. Tropical forests have shrunk by one-half since World
War II, with agricultural pressures causing three-quariers of that loss. Government inter-
vention has produced its share of catastrophes, ranging from a terrible famine in China
between 1958-1961 that may have killed 30 million people and destroyed the Aral Sea.
Teking everything into consideration, we may remain hopeful about humankind’s
agricultural prospects, but we can scarcely look forward optimistically at the end of the first
quarter of the twenty-first century.

16. Why do twenticth century advances 19. What is the conclusion of the author in
not seem sustaingble ? the passage about the prospects of
(a) They do not meet the human needs agriculture in the world ?

() Due to the increased cost of (@ The author is both hopeful and
agricultural production sceptical of the . prospects of
(c) Because they are outdated for the agriculture
tim 4
__ S esﬁﬂ o _ (b) The author is very hopeful of the
(d) They are useful, but intensive prospects of agriculture

17. WhaF pushes _ farmers into places (c) The author is sceptical of the

unsuited for agriculture ? prospects of agriculture

(a) Population growth { )

®) Industr S (d) The author is neither hopeful nor
3w 3 sceptical of the prospects of
c) Water scarcity agriculture

(d) Desertification

18. Which one of the following is NOT
irue, according to the passage, for
ecological degradation ? (a) invasion
(z) Global population growth
(b) Excess use of chemicals
(cj) Desertification
(d) World War II (d) intervention

20. Which one of the following words
megns ‘incursion’ ?

(b) intensive

(c) severe

TODC-T-GAT - C 4
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22.

pirections : Each of ¢ e

h
of which have beep jun fol

. lblel:;mng items in this section consists of a sentence, the parts
sentence 18 followed by fou;- 1ese parts have been labelled as P, Q, R and S. Each

rearrangement of the parts S€quences, namely (a), (b), (c) and (d), indicat.ing the
mark YOur response op thel A]tl)u are required to select the most appropriate option and
S

wer Sheet accordingly.

of children they alsg contaip oty e
embe

| ,\pdded whereas traditional fairy tales

Q
oral lessons that |
L%adults were designed for the entertainment

S
@ RPQS
(b) QSRP
) RPSQ
d QSPR
of school education is an ineluctable truth that sporting activities are an integral part
P Q

meaningfully towards the overall growth of a student

R
that underscores the learning process and contributes

S
(@ QPSR
(b) QSRP
(c) RPSQ
d QSPR

and contentment on account of a life lived the beneficial outcome of

P Q
well without retribution or rebuke ~a virtuous life is peace of mind
R - S

(a) SRQP

(b) SPQR

) QSPR

(d QSRP

5
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24, INore representative than the latter  from a non-parliamentary system
P Q N
in as much as the formeris it is widely believed that the parliamentary system ditlers
R S

(@ SQRP
®) SPQR
() RSPQ
(d PSRQ

25 Stushes the spirit behind the service it stunts the person offering the same and
P Q
exhibition or for fear of public opinion when service is done for
R S

(A SQRP
() SPQR
(c) RSPQ
(d SRQP

Directions : Each of the following sentences in this section has a blank space. followed

by four options. Select the most appropriate option to fill in the blank and mark vour
response on the Answer Sheet accordingly.

./

26. It do ke he is going " (c) Amidst

icted by his sch?ol prihgipal.
(a) any further
(b) further
(c) farther

5

(d) Amid

28. The intricate operation on the
patient required the expertise of a/an
surgeon.

(d) any farther (@) special

27 all the ¢onfusion the thief (b) especial
made a quiet getaway.

/ () Among | (c) specialist
y

(b) Amongst / (d) specialised
TODC-T-GAT = 6
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There are

¥ s LY al . -“'-_"'““"- 1 “
inside the classroary, at :-i1111ll‘[y Studentg

Ll g

(@) less than
(b) fewer than
(¢) less then

(d) fewer then

Directions : In the following
underlined, followed by four
I meaning to the underlin,
accordingly.

The Professor has been abl
confidence in her students

¢ to instil
(a) 1inculcate

(b) infer

(c) eradicate

(d) unlike

. The members of the group expressed

their allegiance to their leader
(a) commitment

(b) disloyalty

(¢) understanding

(d) unlikely

The inscrutability surrounding the

incident remains unresolved until the
end of the movie

(a) clearness

(b) comprehensibility

30.

34,

O

There are many vehicles
on the highway due to a sudden
landslide.

(a) stationery

(b) stationed

(c) stranded

(d) straggle

items a sentence or a phrase is given with a word that is
words or group of words. Select the option that is nearest
ed word and mark your response on the Answer Sheet

(c) seriousness

(d) mystery

The dodgy behaviour of the leader led
to her fall

(a) principled
(b) dubious
(c) dishonest

(d) painful

People have been advised not to
venture into sea as the weather is likely
to be inclement

(a)
(b)
(©
(d)

squally
calm
pleasant

indigent

C — TODC-T-GAT
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‘o1 of six sentences of a passage. The first 4
,  eists of 51X € j 4
Directions : In this section cach item .wnz_sm‘il and S6. The middle four sentences in e
i 1 [ 1 ] @ - + - ke 1 .1 e
sixth sentences are given in the bcg(,;mm;b and S. You are required to find the Proper

have heen _}}!}‘ﬂh}f.d up alnd la:)‘;]n 4 mark your response accordingly on the Answer Shee;

sequence of the four sentences

R. Khwarizm was an important cenyy,

36. S1. Sufism is an English word coined of learning, and Al-Biruni receiveq
in the Nineteenth Century the best educationi available at the

S6. It may also have been suffa, the time
platform outside a place of Islami¢ S. However he did not know Greej
worship although he was familiar with the
works of Plato and other Gregp

P. Historians have understood this

term in several ways philosophers
o0 3 a SRP
Q. According to some scholars, it is (b) g e
derived from suf, meaning wool (b) RQ
" <) c) POSR
) i safa,
R. Others derive it from saft ek s o

meaning purity

S. The word used for Sufism in 38. S1. Vijayanagara or ‘city of victory’

Islamic texts is rasawwuf was the name of both a city and ay

empire
(@) QRSP S6. They remembered it as Hampi, a
(b) SPQR name derived from that of the Jocal

mother goddess, Pampadevi

(¢c) PQSR . .
P. In its heyday it stretched from the
(d RPSQ river Krishna in the north to the
extreme south of the Indian
37 Sl. jAI—Biruni was 'bdm in 573, peninsula
Iu}b I;]h\tvanzm % | ‘rssent-day Q. Although it fell into ruin in the
USRI seventeenth-eighteenth centuries.
S6. He arrived in Ghazni as a hostage, it continued 1o live in the memories
but gradually developed a liking of the people who inhabited the
for the city Krishna-Tungabhadra doab
P. In 1017, when Sultan Mahmud R In 1565 the city was sacked and
invaded Khwarizm, he took subsequently deserted
several scholars back to his capital, S. The Empire was founded in the
Ghazni : Al-Biruni was one among fourteenth century
them @ SPRQ
Q. He was well versed in several () SQPR
languages; Syriag,_Arabic, Persian, (c) PQSR
Hebrew, and Sanskrit @ PQRS
TODC-T-GAT - C 8




TEEL India's g, S“alisation 40. S1. In many countries, there are
"7 OF ap gy - o0 fhe millions of people who are
% S =~ Impeded underprivileged and deprived
? e of the 1. “Si0Mmed jnm S6. In the past forced lzbour was
5 Me mors - o0Nomies of imposed by landlords, money-
: P Indiz%s lenders, znd other wezithy persons
} P. Both of these are prokibited under
the Constitution of Indiz
s 0. One such form of exploitation in
our country has been begar or
forced labour without payment
= R . The marginalised are often
o subjected to exploitztion by their
feilow buman beings
S. Anofher closely related form of
exploitation i buying and selling
S. of human beings and using them
as siaves
(2 QSR?P
z By R QS2P
= {cy PQSR
= (d) QSPR
Directions : Toc Zoliowing Mer< Bave a/secfencéiaidirec: or indirect speech. followed
=y o opoome, Ofieof the optionsicemrecuy convers the dizeft spéech into indirect
spe=ct. Selezz the mos! 2pproprizie option and mark your@nswer on the Answer Sheet
AT oo z A | Epre | miRT . smish 3 Y 3 3
41. Comver: TOME) CHEE ALY | HEHC (b} Ayushi asked the group that they

SRR bad had enough of suffering this
— - day and 1T was Ome 0 march

Aymsmd send 1D TDE ZOUD. T We DAVE
s, = 5 T
=2 it o L oS B ioTwarg
Tnf SopsTs O SpOermE I0CEY. 1 1S

ST, BIY s dns ST = . . - — bt | 2
had enough of soffermg and that
L B Y dBar genewn “e~ H Ze 3= 4m e o
fz) Aynsi wold the group A W5 11 is ime 10 march forward
%+ @ - - — - 3 -
v Tm S mmmms o SZESTIDE TOAT i e et ot 13 = S I =
v had gpposh OF sErEmims DAL (d) Aymshi wild the group 1zt we had
Ll es asiis Ee P 5 A 5 = B}
dzv zmd T Was TDE 10 mEW bad enough of suffermg this day
- L = e . s
Torwasd and it was Ome 0 march forward

8 C — TODC-T-GAT




42,

44,

45,

Convert from direct speech into indirect
Speech.

“Alas! We lost the match by one point,”
said the Captain

(@) The Captain regretted that they
had lost the match by one point

(b) The Captain regretted that they
lost the match by one point

(¢) The Captain exclaimed that they
had lost the match by one point

(d) The Captain told the team that
they had lost the match by one
point

43. Convert from direct speech into indirect

speech.

“Where were you last week ?” Alok
asked Sheela

(@) Alok told Sheela where she had
been the week before

(b) Alok asked Sheela where she had
been the week before

(c) Alok asked Sheela where she was
the week before

(d) Alok asked Sheela where she had
been the last week

Directions : Following items have sentences in active voice with four options. One of the
options converts the active voice into passive voice correctly. Select the most appropriate
option and mark your answer on the Answer Sheet.

The king who the people loved built
the castle five centuries ago

(a) The castle was built five centuries
ago by the king who was loved by
the people

(b) The castle was built five centuries
ago by the king who loved the
people

(c) The castle built five centuries ago
by the king loved by the people

(d) The castle was built five centuries
ago by the people who were loved
by the king

The company has recruited four
hundred engineers who will have to
complete an internship for three weeks

TODC-T-GAT - C
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(a) Four hundred engineers have been
recruited by the company and -an
internship of three weeks will
have to be completed by them

(b) Four hundred engineers have been
recruited by the company and they
will have to corhiplete an internship
of three weeks

(¢) The company has been recruited
by four hundred engineers and an
internship of three week will have
to be completed by them

(d) Four hundred engineers have been
recruited by the company. Intern-
ship of three weeks will have had
to be completed by them




46.

47.

48.

Seldom and Oft
o (c) Overcome means to be successful
ey At
a) Seldom and succeed means to ac
& Means hardly ever ang something

often means time apq again

(d) Overcome means winning and

(b) Seldom means tj . ;
) time and again and succeed means to rise above

often means hardly ever

(c) Seldom means never ang often 49. Embed and Imbue
means not at all

Embed means instil and imbue
(d) Seldom means frequent] (a) :
P Y and oft
means time and again = means implant

: 4 (b) Embed means implant and imbue
Overview and Rejgem means instil

(2) Overview means assessment and (c) Embed means accept and imbue
review means general idea means detest

(b) Overview means general idea and

review meatRERement | (d) Embed means include and imbue

means accept

(c) Overview means general analysis
and review means go through 50. Emancipate and Empower

(d) Overview means summary and

review Aiimalilustion (@) Emancipate means authorize and

empower means liberate

dS ed \
Overcome aIlig@g-™ (b) Emancipate means liberate and

. empower means authorise
(a) Overcome means triumph over and

succeed means to achieve some-

thing (c) Emancipate means liberal and

empower means authorisation

(b) Overcome means achieve some-

thing and succeed means 0 (d) Emancipate means freedom and
triumph over empower means encounter
H C - TODC-T-GAT
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(@ CaCo, +H,0+C0, —
Ca(HCO:)>

® Ca(OH), + CO, —» CaCO; + H,0

(€) Ca0= CO, — CaCO0;

e 5
- ' E
SUET = e %
H D e ——
() == Jw ARk S HUGA

(d)

Use 9§ & eng.w" T O
9 F AR 9 3R e
¥ = Hic 998 @R Y 9get ©
—_— =

e

TRES
NI ©
(@) YRR (analgesic)

(b) ] (anusepuc)

OIREISEICE: (antbiotic)

(@) whi-sw (antacid)

TODC-T-GAT - C

(a) 9oId = HEgTE
Qa:% Che

—

N

> ~
(b) == -}n— S

<h

© Stis

i“:'."!\qg;‘.

Tog e o
\Gidineg 9955 1

oY o s
d) ¥t § 59 ==

o r
NS0

e

L m r N o
'q_'.\q;ﬂ dE
L Gl
- e _
= SUAT &
il
Y
~ _— =
SR J(a] ©
~



PART - B

51. Thi re:zﬁtion that occur
arbon dioxi S i
G oxide gag tEirom on passing
is gh lime water

5 Ny

Ca(HCO;),

(8) CHOM,+C0s Cupn. 4 5.6
3 2

(c) CaO+CO, - CaCo
3

(@ CaCl, +H,0 + o, -,
CaCO, + 2HCI

52. Which one of the followj
is NOT correct ? B s

(a) Water of crystallization is the
fixed number of water molecules

present in one formula unit of a
salt

(b) The melecular formula of Plaster
of Paris is CaSO,2H,0

(c) Washing soda is used for removing
the permanent hardness of water

(d) The atmosphere of Venus is made
up of thick white and yellow
clouds of sulphuric acid

53. Which one of the following type of
medicines is used for treating indiges-

tion ?

(a) Analgesic
(b) Antiseptic
(c) Antibiotic

(d) Antacid

54.

55

56.

Which one of the following is NOT
present 1n cement ?

(@) 2Ca0-Si0;
(b) 3Ca®-Si0,
(c) 4Ca0-Si0,

(d) 3Ca0-Al,0;

Which one of the following is NOT a
chemical change ?

(a) Burning of coal
(b) Rusting of metal
(c) Melting of ice

(d) Reaction ef acid with base

Which one of the following statements
is NOT correct ?

(a) The interconversion of states of
matter is a physical change

(b) During burning of a candle, both
chemical and physical changes
take place

(c) During a physical change, the
chemical composition of mole-
cules changes

(d) Rusting of iren is a chemical
change

C — TODC-T-GAT



57. frafofes & @ Sw-ar R fem

58.

qE R ?
(@) 1T IrsETREE ¥ gouR

©) I (W) R T (e
Toreeat &t s

(c) =98 s«
(d) -9 % gog
T 19 = 1 & gafm i sk
T & 99 Ry 10 e @1 ww =
Wﬂﬁt{:
gt 1 = 1
(dca) (RATYHAT)
A. FERRE 1.2
B. AT3CIo 2.1
C. fsi= 3. 8
D. 9% 4. 4
e @

@ 4 1 2 3

b)) 4 2 1 3

@ 3 1 2 4

TODC-T-GAT - C

59. frforfag AT sy srrfsaT (Redox

reaction) ¥, &% gy ffire TH AITESF
(Reducing agent) & &9 A el ® 2

N,H, + 2H,0, - N, + 4H,0
(a) H,0,

(b) N,H,

(© N,

(d) H,0

60. frffea % & Ry st o1 ygew @

61

AT ST § 2
(a) I S
(b) ST et
) T ==

(d) auf s

.wﬁmﬁm%ﬁqﬁm%ﬂqa

W ¥ H-TT T SRR L
(a) A F e
(b) AN & FRrEE

(c) N F JewEie
(d) HAREE F ook




7. Which one of the ¢

L¥ 1)

i‘Q“O“-i

ng is N
tirgs T NOT a

heterogeneous mix

a) Sulphur ;

\ Phur in carpy, disulphid
e

(b) Mix
( ture of sygy,, and salt crystals

(¢) Sandy water

(&) Sulphur in wager

. Match List I with List I1 and select the

answer using the code given bel

A. Phosphorus =0
B. Nitrogen Ll
C. Neon 3.8
D. Sulphur 4. 4
Code :
A B C D
@ 4 1 TV

® 4 2 1 3

@ 3

15

59.

60.

61.

S —

In the following redox reaction, wh;ch
compound 18 acting as a reducing

agent ?

N,H, +2H,0; = N, + 4H,0
(@) Hy0,

(b) N,H,

(c) Ny

@) H,0

Which one of the following is con-
sidered to be the purest source of

water ?

(a) River water
(b) Sea water
(c) Well water

(d) Rain water

Which one of the following salts is
responsible for temporary hardness of
water ?

(a) Sulphates of calcium
(b) Chlorides of magnesium
(c) Bicarbonates of magnesium

(d) Sulphates of magnesium

C — TODC-T-GAT



62. g 1=t & 1 ¥ gafem difvrg ok

TR 9 Ry T e @1 o W
SRR ﬁ'f‘;rq 3
T Bl
(3if3rfesar) (¥FR)
A. CaO(s)+H,0() » 1.T&d
Ca(OH), (aq) foeamm
B. CaCO; (s) - 2.f%-
Ca0 (s) + CO, (g) FereaTaa
C. Pb () + CuCly (ag) = 3 T30
PbCl, (aq) +Cu(s) 4. fagisw
D. N32504 (aq) £ ( )
Bac12 (aq) —3
BaSO, (s) + 2NaCl (aq)
D
A B C D
@ 2P 4 3
® 2 4 1 3
() 3 Q@SN 2
@ 3 1 4 2

63. Ffafea & ¥ sH-91, us Fsaens

atfarfsrar (Endothermic reaction) @ ?

(a) CH,(g) +20,(g) = CO, (g) +
20, (g)
(b) CeH ;206 (aq) + 60, (g) —»
6CO, () + 6H,0 (1)

() N;(g)+3H,(g) = 2NH; (g)

(d) 2Pb(NO;), (s) = 2PbO (s) +
4NO; (9) + 0, (9)

TODC-T-GAT - C
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64. Frafifam & § £ ‘wo-dR-TE

65.

66.

(water gas) & &g ¥ W ST S 7

(@) H,0+Co,

(b) NH;
(d) CO+H,
frafafes & § @m-w == &

T T ?

(a) _E'fi?f I f:-';(-qq d'étiq\i\!'lhi HrEET
(extended covalent bonding) F

TRU FBR BIGT ©

(b) TR T IR BT dcdig F@dl
¥ W BT &

) ¥ fosm =1 g=es §

(d) IFE F I SoF T w7 F
forar ST @

Frafafes & i 3l 1936 555
H i T e e S v
& egEa & 2

(a) TESIHG wR&El
(b) K. S M
(¢) TH FARK el

(d) TINETY TR




. Match List | with

Li
15t H_ and select the

Lists §lven below the
List |
(Reaction ) List 11
(Tpe)
A. Ca0 (s) + H,0 (1) — .
Ca(OH), (aq) 1. Single
displace-
B. C&CO3 (S) — ment
CaO (s) + CO, (g) 2.Double
displace-
C. Pb (s) + CuCl, (aq) — i
PbCl, (aq) + Cu (s) 3. Combi-
nation
D. Na,SOy (aq) + 4. Decom-
BaCl, (aq) —» position
BaSOy (s) + 2NaCl (aq)
Code :

(@ 2%l ¥ 3
® 2 4 1 3

(c) 3
@ 3 1 4 2

63. Which one of the following 1s an

endothermic reaction ?

(a) CH,(g) +20,(8) CO, (8) *+
20, (g)

(b) CgH,,06 (aq) + 60 (8~
) CPe B L0, (2) + 6H,0 ()

(©) N, (g)+3H,(®—> 2Nt (&)

d) 2Pb(NO-), (s) = 2PbO (s) +
W e 4NO, (g) + 02 (8)

17

64.

65.

66.

Which one of the following is known
as ‘water gas’ ?

() H,0+CO;
(b) NH;
(c) Hy+ N2

(d) CO+H,

Which one of the following statements
is NOT correct ?

(a) Diamond is hard due to extended
covalent bonding in it

(b) Fullerene is composed of five and
six membered rings

(c) Diamond is a good conductor of
electricity

(d) Graphite is used as 2 lubricant

Who among the following presided
over the first session of All India
Kisan Sabha in Lucknow in April
1936 7

(a) Sahajananda Saraswati
(b) R.G. Ranga
(¢) Ram Manohar Lohia

(d) Jayaprakash Narayan

C - TODC-T-GAT



67.

68.

69.

fafafes & 3 e ‘sror-mmm
g (Self-Respect Movement)' &
veda foar 2

(a) <grfaar Efﬁ

(b) = fesme

(©) 3. <t TwTEE AHER

(d) Si. &t IR, e

e Rreere F wfy w2 SRm @
SoE ? | fraffem & ¥ S,
T F wme fo &t 2

(a) ﬁlﬁ'ﬁgﬁiﬁ"‘r

(b) STETSAT

(c) SeeraE

(d) Tedit=seg

B T W ¥ A N frafyfes ¥ @

FH-T1 97 T8 © 2

1. AT fes ¥ e 1916 &
S F At S wfREe
FhE (J93 Widg waq) § o

. T AN & ST Tar

2. T =¥ ¥ R 1916 % B =
ST &% 5T 6 S 9y

3. @9 § 99 & Tou foers & o
aﬁm(aﬁwaﬁ?ﬁw)
e, HEA Yid IR WK F =1
T 41 AR S8 f 9N S Sy
HRA & WOR fear mr

T fq TQ T # wam R s g .

(a) ¥ 1 3K 2

(b) ¥« 1 3Kk 3

(c) Fad 2 3R 3

(d) 1,2 3K 3

TODC-T-GAT - C
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70. R =% foamamr % dey & Frefiad

71.

ﬁﬁﬁ?—mmaﬁaﬁ%?

@ ¥ ¥@a wew, Feed F
TEENEE g

(®) ¥ WHR farrera Frdes (Govern-
ment Inspector of Schools) &

(c) %%ﬂ?@?%aﬁ%

@) 3 fogar qaffare AR &
TS 3

T I & 0¥ gt Sifg ok

T % A3 fog m g w0 o

IR g .

T 1 g 1
(qaR=)  (grrfe =4/
3&i)
A. T s 1. 3fcs g -
gfeq wTsfefhs
4 ; aaTF{%rrraﬂts
o S
2. Tagar qaffare

a1
&c :
A B C »
(@) 1 3 4 2
®) 1 - 3 2
c© 2 3 - 1
d 2 - 3 1




07.

68.

69.

A TR
R S
Y

Who among the follo
‘Self-Respect Moy,

(a) Jyotiba Phyle

(b) Swami Vivekangyg,

meng’ 9

(©) E.V. Ramaswap; Naicker
(d) Dr. B.R. Ambedicy

Chola inscriptions ;

catcgoﬁcs of lands. V‘;"lfif;;()gn se\iz.eral
following was meant fo thee of the
nance of school ? mainte-
(a) Tirunamattukkani

(b) Shalabhoga

(c) Vellanvagai

(d) Pallichhandam

Which of the following statements
about the Home Rule League are
correct ?

1. Lokamanya Tilak set up the Home
Rule League at the Bombay
Provincial Conference held at
Belgaum in April 1916

2. Annie Besant announced the
formation of Home Rule League
in September 1916

3 To avoid friction, Tilak’s League
was to work in Maharashira (ex-
cluding Bombay city), Kamataka,
Central Provinces and Berar and
Besant’s League was given charge
of the rest of India

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2and3

Wing founded the

70.

i

T, N R T

Which one of the following statements
about Ishwar Chandra Vidyasagar is

NOT correct ?

(a) He was the Principal of Sanskrit
College, Calcutta

(b) He was a Government Inspector
of Schools

(c) Hewasa Secretary to the Bethune
School

(d) He was the founder of Widow
Remarriage Association

Match List I with List IT and select the
answer using the code given below the
Lists :

List I List IT
(Reformer) (Social Work/Text)
A. Vishnu Shastri 1. Vedic Physics :
Pundit Scientific
K Origin of
~Eaggondas Hinduism
Mulji :
C. Debendranath 2. Widow‘
Tagore Remarriage
Association
D. Raja Ram
Mohan Roy 3. Satya Prakash
4. Tattvabodhini
Sabha
Code :
A B C D
@ 1 3 4 2
® 1 4 3 2
© 2 3 4 1
@ 2 4 3 1

C — TODC-T-GAT



2.

73.

74.

EI gy H, Aqedl o s faw
0 9T qru 7

(a) @TEA

(b) e

(c) sieers (s

(d) drermEi

A H g ae Feffaa fead
B B wEE ved § AR Fd B
FTASHTAT SFafeqd Hrfor ;

1. Hrex HEi

2. eIt Ardte

3. srarTEr faferfer fferfem

4. 35 I

At o T g e T @ IR 9P -
(@ 2-1-4-3

(b) 2-3-4-1

(c) 4-3-2-1

(d 3-4-1-2
freferfiaa 3 & wim-a1 se gza ome

(Bretton Woods System) & #eiftra #gt
.

(a) SRS Hg1 &

(b) Tedta fasagg 3 e srdoraeay
1 AT el

(c) SATRISE YAl Ta fompmar e

(d) IR Ffm R | sofe o
Hifeer sqeedT $t T

TODC-T-GAT - C
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75.

76.

71

78.

ATt Febaqopy oy 22 7

() b 19T i,

”')) ”_’Jh Al 11401

(c) "4ty o wvape  (Satavahana
court) <l i Al

(d) = wrsit & aard

TR d, Uk ga1gyq-ieqd Hl B

e, Tt v g 31 g W T

e Al

(2) HAY

(b) Wz

(c) HoTTHT

(d) &r=

E\H‘E 5{1”}? ::]q‘i.’:f?_.q.' :5‘].)[{ A T %Fl
A1 AR SR frEm @ F fo
Frfafaa % o fom wfufrm 3 free

e (A1 A @) et fear 7
(a) Tgafen vz 1773

(b) foem 2fem vz 1784

(c) =M TF 1793

(d) =& UFE 1813
frfefaa 3 & fmm i 5w
97 i Hig @ ?

(a) & ATE

(b) T& I

(c) T wwifag

() Te e faw



72. In the H&Yﬂppan Cin

74.

.,i i -
banon, traces of

canals have b
een foy
ung
at

(@) Banawali
(b) Lothal
(c) Shortughaj

(d) Dholavira

. Arrange the following foreign travel
ign travel-

lers to India in ol

beginning with the eag]; ogical order,

est :
1. Peter Mundy

2. Antonio Monserrate

2

. Afanasii Nikitich Nikitin
4. Tbn Battuia

Select the answer using the code given
below :

(@ 2-1-833

b)) 2-3-4-1

(c) 4-3-2-1

@d 3-4-1-2

With which of the following was the
Bretton Woods System NOT associated
(a) International Monetary Fund

(b) Economic recovery after the
Second World War

(c) International Bank for Reconstruc-
tion and Development

(d) Establishment of 2 monetary
system based on floating exchange

rate

21

75. Senguttuvan is the name of

(@) a Pandya ruler
(b) a Chola king
(c) a minister in Satavahana court

(d) the capital city of the Cheras

76. The Ramacharita, 20 example of

dvyasrya-kavya. telling two stories
simultaneously, was written by

(a) Sub andhu
(b) Bhatti
(c) Sandhyakara

(d) Kamban

77. Which of the following Acts estab-

78.

lished the Board of Control to guide
and control the work of the Court
of Directors and the Government of
India ?

(a) Regulating Act of 1773

(b) Pitt’s India Act of 1784

(c) Charter Act of 1793

(d) Charter Act of 1813

Who among the following Sikh Gurus

laid the foundation of the Khalsa
Panth ?

(a) Guru Nanak

(b) Guru Aran

(¢) Guru Hargobind
(d) Guru Gobind Singh

C — TODC-T-GAT



. FEfRE d ¥ R A @y 82. 698 Vel wewr @y wedt @ &

BRI G T i ap— Freforfag JqRSET T W
SRS 7 HITHATIER sqafeyg HIT :
(2) 9E THasiy Fromr L. www (3o e 39) &7 WA
O R 2. -wiften Afufes Premee
(c) et ety Aoy &1 f=F (advent)
(d) T3 Tl e 3. VAR IR Sugg 1 WETu
A 13T 1 e =1 e e e g
80. MY drommett % af frafufeg # &
HE-F & 7 (a)'2-123
(@) 1956-1957 ®) 1-2-3
(b) 1966-1969 (© 3-2-1
(c) 1975-1976 A P
(d) 1992-1993 8. Frfher & 3 b /e
Hﬁ‘ﬂﬂ{ﬁﬁﬁ%éﬁaﬁﬁimq\a
81. fsd (BRICS) fireR wwdrem ¥ it 3 FFR /8 2
1. ¥ 99 7 sifrer
L. w2 foo fireR weier sisfier 3
grafora fopam mar gt 2. fsten @ aiftrer
- 2. fom iR wiem Rt & i 3.@3%3%&133&%53@35%%1
et R Ao g g fryes sk sfed fer o
AUFR
STYE DA /TR T w)
8/% 7 A 160 Y e o WA R v gfg -
(@ ¥ 1 (2) 13K 2
(b) Faw 2 (b) 2 3K 3
() 13K 23t (c) Fad 2
d JTa 1,982 @) F 3

TODC-T-GAT - C 22



80.

81.

(a) First Five Year p|
an
(b) Second Five Year py
an
(c) Third Five Year pj,
n

(d) Sixth FiVe Year Plan

Which of the followi
of Annual Plans ? Ing were the years

(a) 1956-1957
(b) 1966-1969
(c) 1975-1976

(d) 1992-1993

Consider the following
about BRICS Summits :

statements
1. The first BRICS Summit was held
in Brazil

2. BRICS Summits were held in
New Delhi on three occasions

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

23

82. Placing the

earliest first, arrange the
following international events in the
chronological order :

1. Introduction of WwW (World Wide

Web)

2. Advent of Inter—Continental
Ballistic Missiles

3. Launch of first communication
satellite
Select the answer using the code given
below :

@ 2—1=3
®) 1-2-3
© 3-2-1
@ 2-3-1

83. Which of the following rights under

the Constitution of India is/are Funda-
mental Right(s) ?

1. Right to work
2. Right to privacy

3. Right to free and compulsory
education in the age bracket of
six to eighteen years

Select the answer using the code given
below :

(@ 1 and 2
(b) 2 and 3
(c) 2 only

(d) 3 only

C — TODC-T-GAT



34, ST WAl F S (flags) ®
Y § fisfie =@ w SR
Eﬁ'ﬁ‘t
L. EUS =9 ¥ ¥ Touf ® @R
TR &1 ¥ = @ R
LUNF A NE SR AN
ST ¥
3. ASEAN & s ¥ i, 9, W&a
IR drem @ ¥
SIS J ¥ frem/fem wm W@
?/% 7
(@ T
®) 1
(c) 2
d) 3

85. frafafes & & sl-& aftfy wra

T I g & e 3
Hag TEl © 7

(a) Seied TG Agal G

(b) SN HeaT wiHfa

(c) T . Tt wfufy

(d) sfufoa a7 wfafy

86. T 3(aae o i BT g 0-5m B |

o Y e §
(@ +0-5D
(b) -05D
(c) +2.0 D

(d -2:0D

TODC-T-GAT - C
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87.

88.

89.

frelt GahiT O |, s waad @ Y
w WY fRm grEel TEe '
3T R g e e fifa 3
w1 o

(@) <fe-gm sipss fraw

(b) T & IR faw

(c) il =7 gfdor-wea foram

@ & w Fm

TE A6 (AU) § Te IRES
(parsec) TR TehcaT BT € 7

() 2x10®AU.

(®) 2x10* AU.

(€) 2x10° AU.

(d) 2x10°AU.

wia & focta Fam & forg Frafofea
A -1 F T A 7

(a) =l e | & am=n ¥ s« 59
T & RO F WA orar

(b) forelt fie W & T/ F¢ a9 =
£ R F S R

(c) T & uRadd 6 w98 w 59
R T ©

(@) ot fie | &9 /= ¥ 59 5o
e & 99 & TWIuEy o 2




g4. Consider the fol
with regard to q
Organizations :

-
agswmg statements
of International

1. The ﬂag of EU b

gold stars on 4 as a circle of
1

ite background

95 Th-e Flag F)f the UN carries t
pairs of olive (ree branchesc e

3. The ASEAN |
i ag carri
white and yellow colo(fr:)l“(i, red,

How many of th
: e abov Ty
is/are correct ? ¢ statements

(a) Nil
(b) 1
(c) 2
(@ 3
85. Which one of the following com-
mittees is NOT associated with

decentralization of Panchayati Raj
institutions in India ?

(a) Balwant Rai Mehta Committee
(b) Ashok Mehta Committee
(c) L.M. Singhvi Committee
(d) Abhijit Sen Committee
86. The focal length of a concave lens is
0-5 m. The power of the lens 1s
(a) +0-5D
(b) -0-5D
(c) 20 P
(d -20D

25

87.

88.

89.

The rule o determine the direction of
a force cxpcricnccd by a stm? pht
current carrying conductor placed in @
magnelic ficld which is purpcn(liculur
to it is

(a) Right-hand thumb rule

(b) Fleming’s left-hand rule

(c) Fleming’s right-hand rule

(d) Hund’s rule

One parsec in astronomical units (A.U.)
is about

(2) 2x10° AU
(b) 2x10* AU
) 2x10° AU.

(d 2x10°AU.

Which one of the following statements
for second law of motion is NOT

correct ?

(a) The net force on a body is propor-
tional to that body’s acceleration

(b) The net force on a body is in the
same direction as the acceleration

(c) The time rate of change of
momentum is equal to force

(d) The net force on a body is propor-
tional to that body’s momentum

C - TODC-T-GAT



90.%%@?\1@?3101(%%

91.

340 K & sman ® | foft dfRmw
e # R 9fg g R

(a) 20°C

(b) 30°C

(© 37°C

(@) 67°C

ot fie W e g g o @ ¥

forg Fraferfem 3 & - =27 v

TE R 7

(@) T o =@ fis grr swem T
T Y @ 2

(b) feram o @ et e A amifir
R it f&afs & o= Y st
T R FreR et &

(o) T T wE i TR s @

wmﬁﬁtm%

(d) afs fiz =1 Tecaredn s & afis
foreafie feran strar @ & foran
wd T ®

92. frmafafaa & & S-a1 597 @8 & 2

(a) <& i & Fr-gry foar Bt
e

(b) T Tt 5@ F forem TR W £,
SISl HedT SraT &

R HE o B

(d) uTERel ﬁNszﬁﬁm
(afe) =t frefm == €

TODC-T-GAT - C
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93. freferfie 3 ¥ fpg aerded =1 R

94.

95

X-ray % 397 8 Ged & 7
(a) 1 nm

(b) 10 nm

©) 100 mm

(d) 300 nm

foFeft gl 3, 3 (eyepiece) o I
I # sifigyas (objective) o H

(@) sfs e g Rk &% TRE
(aperture) BT &

(b) - 3t wrww g sk BR TR
el

(c) Wtﬁ?ﬁ@?ﬁ'{aﬁmm%
(d) F9 wiwE T 3R DR TR BT 2

ot wiew @ =, £y E=hf &

€ H =k R sowwa f, W s
g § 3R h <iw R ¥ ) op R
femTd (dimensions) feres wmr & 2

(a) MWas gam
(b) T AT
(c) fereamam
(d) st



90.

91.

92.

The temperagyg,

from 310 K tq 34(;“' a

INCrease in degreq o The temperature

body increases

Clsius is
(a) 20°C
(b) 30°C
(c) 37°C
(d) 67°C
Which one of the following statements

for the work done b
is NOT correct ?

(@)

Y gravity on a body

Work done is independent of the
path followed by the body

(b) Work done depends only on the

.vc'niical distance separating the
initial and the final position of the
body
(c) Work done depends on the path
followed by the body

Work done is zero if the body is
displaced horizontally to the force

of gravity

)

Which one among the following
statements is correct ?

(2)

Pressure has magnitude as well as
direction

As we go deeper in 2 liquid, the
pressure decreases

)

Action and reaction forces act on

the same object

(c)

pascal and N/m’ represent the

same unit

(d)

27

93.

94.

95.

s S T

v LR T SR e e o e

Which one of the following wave-
length radiations may correspond to
an X-ray ?

(a) 1 nm

(b) 10 nm

(c) 100 nm

(d) 300 nm

In a Telescope, compared to the
eyepiece lens the objective lens has

(a) larger focal length and larger
aperture

larger focal length and smaller
aperture

(b)

smaller focal length and larger
aperture

(©

smaller focal length and smaller
aperture

(d)

The energy, E, of a photon can be
expressed as E =hf where f is the
frequency and A is Planck’s constant.
The dimensions of / are the same as
that of

(a) linear momentum
(b) angular momentum
(c) displacement

(d) torque

C - TODC-T-GAT




96. et T W Frfwd aw grr R
w1 3 R af

(@) o8 =1 foramm @@ & R F
formtier feam 3 2rar 2

(b) =g & e qw i o ¥ @
eI 8

©) 3 =1 e aw & far ¥
e foam & < 2
(d) ST & & g e
97. Felt e el Rl ofeiRi
HeR o & grar 2
(2) TFaTE
(b) sraATH
(©) =
(d) weafag X g=am
98. fFrtferfea & & frm Suemor &1 gaa

~250°C A9HE A9 & fora e
ehdl g 7

(a)ﬁ?a"rmrranurﬁamw&}m
SYGNT FH

(b) %Qﬁﬁmaﬁmﬁﬁmaﬂ
SYGNT

(c) Tt ziaedt (fFafaer) amfiex
S IUART FF

(@) 5 Tt gm eie
ATTATI 6T I 5k

TODC-T-GAT - C
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99.

100.

101.

et e % el gerATT H, IE
e 3w g e g & aTsa
oo & foru s e & AT @
AT HET ST & 7

(2) fafirse o

(b) fafire 1wz

(c) aMd@ Urfcar

(d) Zoa1 Z=f

e aE o = et ot o @

S T AT -5l qIHEAT g1 & ]I
= ST R, e e @ 7

(a) TEE (Melting point)

(b) TGS (Boiling point)

(¢) =@ 195 (Liquid point)

(d) S & & 9

I F AR F Frfafen ¥ @
T T T B 2

(a)mﬁﬁﬁﬁmwﬁgﬁg
Bl 8

(b)wﬁaﬁsﬁtﬂwﬁmﬁ
Bidl §

(c) Wﬁq&mmﬂéﬁq?%
UHEHTE ST M

(@) A A gfg A el By ) ey
Hea FH e

¥



90. The work done b

97.

98.

: , yt
an object is zepg ihe force acting on

of the object ¢ displacement

(a) is in the op

o = POsit
direction o ¢d

irectio
f force n of the

(b) is in the same

; : direct;
direction of for. Irection of the

&

(c) is In perpendicy]

e ar directj
the direction of force o

(d) none of above

The magnetic field inside 5 current
carrying very long solenoid is

(a) Uniform
(b) Non-uniform
(c) Zero

(d) Highest at mid-point

Which one of the following instru-
ments can be used to measure 5080
temperature ?

(a) By using a mercury based thermo-
meter

(b) By using an alcohol based thermo-
meter

(c) By using a clinical thermometer

(d) By using thermocouple based
thermometer

99.

100.

101.

29

The quantity of heat needed to’chiange
unit mass of a substance from liquid to
vapour without changing the tempera-

ture, is called

(a) specific heat

(b) specific latent heat
(c) thermal capacity

(d) heat energy

The temperature at which “vapour
pressure of the liquid in an open vessvfsl
becomes equal to the atmospheric
pressure” is called

(a) Melting point

(b) Boiling point

(c) Liquid point

(d) None of the above

Which one of the following statements
about surface tension is correct ?

(a) It increases when temperature
increases

(b) It decreases when temperature
Increases

(c) It will remain same with increase
or decrease of temperature

(d) It will always decrease with

increase or decrease of tempera-
ture

C — TODC-T-GAT



102. ¢ fig s & g&@ @ R, 9

(a) S F T fis o aAe @ AU

e ®

(b) I & He Ty F A & A

BT ®

(c) ¥ =1 e fis & o & K
BT ©

(d) o= %R e @

]
“
|
4|
o

103. FgH R el gerera O fa & I
et felt fpae e oW 3= aRd
(Jehsd) TFa 9T BT S HAN: G
3R F i € 7

(2) T h RO H TH T S
(b) 77 & RY W "G F fow
(c) g & am # 9fg o= & forg
(d) ST # A B T

104. 59 7 wQ ot &R &1 @w 9a1 w0

Wi BT ® | g% fre wRor ¥ o
22

() TN T R
(b) TV F JqgdT
(c) TRV &1 Aty
(d) w1 & faee

TODC-T-GAT - C

105. SONAR &1 qvf &g ¢

(a) HTATITH T I
(Sonographic Natural Ranging)

() o didryme Ihmem
(Simple Operational Navigation
Ranging)

(c) qr3e ﬁﬁﬁ&l’-’f U,_S.' fiEn
(Sound Navigation and Ranging)

(@) T siarrer S

(Simple Operational Natural
Ranging)

106. Fafefen % & frm R 1 o
aress grar € 2
(a) T TR (Xorays)
(b) T (Ultraviolet)
() TH T (Micro Wave)
(d) ¥EH (Infra-red)
107. Vs srae # frmm fedt wed &

for, feafafe % ¥ S9-w1 =07 w1
B 7

(a) Tt foR@E-Aeh & afim frar
1 gEAT ©

(b) TH e w@d ARty R
ST "R ©

(c) eyl s IR Fer@-Te S
1 smafsE o s e 2

(d) Il I R fagm-At e
H AR Tt TR 1 g &




102

103.

104.

A body sinks j, Water w,
'hen

(a) density of Wt -
density of bO(?;rcr IS greater than

(b) density of

: Water
density of bogy

ody less than

(c) density of i
de bo;yy water ig €qual to density

(d) the body is heavy

Why a fielder in the groung gradually

pulls- his hands backward while
catching a fast moving cricket bal] ?

(a) To reduce the acceleration of
the ball

(b) To increase the acceleration of
the ball

(c) To increase the velocity of the ball

(d) None of above

Bottom of a tank containing water
appears to be raised. It is due to

(a) Reflection of light
(b) Refraction of light
(c) Interference of light

(d) Diffraction of light

31

105. SONAR stands for

106.

107.

(2) Sonographic Natural Ranging

(b) Simple Operational Navigation
Ranging

(c) Sound Navigation and Ranging

(d) Simple Operational Natural
Ranging

Which one of the following radiations
has longer wavelength ?

(a) X-rays
(b) Ultraviolet
(c) Micro Wave

(d) Infra-red

For a material under static conditions,
which one among the following state-
ments is correct ?

(a) An insulator can be charged

(b) A perfect conductor can be
charged

(c) Both perfect conductor and insu-
lator can be charged

(d) Both perfect conductor and insu-
lator cannot be charged

C - TODC-T-GAT




108, Gk wiRe frwe ) argall | ae-ars
Yo wwd R R @ fow awge W

TWIRH: ¢ 5@ A ¢, 98 Afh &

3
&

(a) -z g (grEwcigifian)
(b) 1 TRgfea (Swemarfian)
(c) Frae-zfe 2w (amaifimm)
(d) 394 A | @ T

109. forelt Fram (foreem) & forg o=t wdam
i et & 5

(a) o= fageh (isolated) ®

(b) Fae TR (non-isolated) &
(c) T s arfergen 3 €

(d) SFH & A B 7E

110.5 M =@M & g @ fig A @
FR I AR IS A B, Tg TeuH

g B 9 ugdht € oK 9@ A% wwm
an Wit § | freafafes § ¥ S=-a
el R 7

() AR TR 31 = B R & et
(b) AR Tfast 3l = AR Rufest st
(¢) B 7fast 39t = B W Rt ot
(d) B st Fo1 = AR wfast gt

TODC-T-GAT - C
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e stieglern 6 afor qoy gift Am

SUATH T R 2

(a) T FmEy

(b) 3

(c) T sefhe

(d) T FHreRmE

112. Freafafes # ¥ frg gmer ¥ af 2025 ¥

g A 150 7 vt e R 2
(a) WRAT Treafe wefer

(b) W wderor fywmr

(©) wRa e fommm
(d) % ¥ T e

113. Soees & ) ° frafifag § @

HIF-91 /-8 FET gE B /T ?

1. %8 B9 & # Sy feg o
M-dm R PR e AR
st fear

2. 98 MR WER G URH 6 1
& F gitEed @ W w0
6t U wewq Hify

F fo T e @ e R v g9f -
(a) e 1

(b) T 2

(c) 13K 231

(d Fd1,TE 2




STABSE ,

T

e E—

=

109.

110.

(a) Hypermetropi,
(b) Presbyopia
(c) Myopia

(d) None of aboye

The energy is alw
g ays conserv
system which is ed for a

(a) 1solated only
(b) non-isolated only
(c) both isolated and non-isolated

(d) none of above

Suppose, a ball of mass M is thrown
upwards from a point A and it reaches
up to the highest point B and returns
back to point A, which one among the

following is correct ?

(a) Kinetic Energy at A = Potential
Energy at B

(b) Kinetic Energy at A = Potential
Energy at A

(c) Kinetic Energy at B = Potential
Energy at B

(d) Kinetic Energy at B = Kinetic

Energy at A

33

111.

112.

113.

e S ———

What is the nickname of the N_ational
Men’s Hockey Team of Australia ?

(a) The Kangaroos
(b) The Boomers
(c) The Dolphins

(d) The Kookaburras

Which one of the following organisa-
tions has completed 150 years of
service to the nation in the year 2025 ?
(a) Botanical Survey of India

(b) Survey of India

(c) India Meteorological Department

(d) Press Trust of India

Which of the following statements
about ‘Jalvahak’ is/are correct ?

1. It is a newly commissioned naval
ship inducted into Indian Navy

2. It is a major policy for cargo pro-
motion unveiled by the Govern-

ment of India

Select the answer using the code given
below :

(a 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

C - TODC-T-GAT
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114. 9§ 2024-25 & Furf@afq & AR
TETET ME T JEHO AR AR
sfafm % siqta fra aeho frat &
Wittt fomam wam & 2

(a) 600
(b) 740
(c) 700

(d) 680

115. Fr=fofea 3 ¥ frg vea & safa NITI
AEM Togs oAl Bl A YREdH
G (SIT) § o & o gemar
S ST § ?

(a) AT % T NITI <ewid

(b) WRA & Sqd HeH

(c) T~T gEEar faae

(d) HTHE AR FEHA (TERYES
ESiCpi)

116. frafafe & ¥ fre ordm w9 §

FiFT3e AR wiAEe F Afrean ey
(deposits) &

(a) Y WqW
(b) WEA e
(c) ARTS
(d) srfesm

TODC-T-GAT - C
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17. T AR fm ¥ @EE A

118.

1. 7% 11 95 1998 &t wgeaqul Terst
WO ferrr g, w@ WA A
AR fts % siaeia @ha I
wdte feg &

2. T W feaa 2025 F T
siftfs fren (dm) e
TWIEHAY — AR & forg gan Afarss
H YeAferd AT ©

I § ¥ S-w /a8 FET qel
e/

(a) ¥ 1

(b) ¥ 2

(c) 13K 2 gt

@ FTd L7 2
fretferfea 3 & fo ad 2025 ¥ W
AR T F w9 N sl fEm T 2
1. GRS Uell AwaRe

. SEAT Hie

3. TEFR #Hid

4. IRaT IS HHAROY

A e T e v W v g -
(@) 13X 4

(b) Faw 2 3K 3

(c) Faet 1 3R 2

) 1,2 3K 3

[




114

115.

116.

How manv

Mazhatma T, g distri

! _ Gan  we Cls  does
Employmen Gu allonal  Ryral

on 2024-25 9 tee Act cover as
(a) 600
(b) 740
(¢) 700

d) 680

Under which one of
?nin'atives does the NIT] Aayog support
mteFest.ed States to establish a Iélzate
Institution for Transformation (SIT) ?

the following

(a) NITI for States Platform
(b) Bharat Ke Badhte Kadam
(c) State Support Mission

(d) Aspirational Block Programme

Which one of the following Indian
States account for the maximum
deposits of Bauxite and Chromite ?

(a) Andhra Pradesh
(b) Madhya Pradesh
(¢) Jharkhand

(d) Odisha

117.

118.

S e R, e A TIED ¥

Consider the following statements with
regard to National Technology Day :

1. It commemorates the momentous
events of 11th May 1998, when
India conducted successful nuclear
tests under Operation Shakti

2. The official theme for National
Technology Day 2025 is ‘School
to Startups — Igniting Young Minds
to Innovate’

Which of the statements given above
is/are. correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following were added in
India as Ramsar Site in the year 2025 ?

1. Sakkarakottai Bird Sanctuary
2. Udhwa Lake

3. Rudrasagar Lake

4. Bakhira Wildlife Sanctuary

Select the answer using the code given
below :

(@) 1 and 4
(b) 2 and 3 only
(¢) 1 and 2 only

(d) 1,2 and 3

C — TODC-T-GAT



119. ide Ry fre e s oY
Preafifee et ¢ faeme O

1. 9% ¥ fede ® @ IR Q:‘T:
(double centuries) A

TEIT FEE ©

3. 9% S I geAT § oA T
(twin centuries) ¥ T
ARG FHE &

4. 2 e ¥ afiwiv TR W
TN 9 ARAE BH H ST
Wi §

ST # | AT FIT GG © 2

(a) Fad 1 3R 2

(b) %ad 2 R 3

(c) A 1, 3 3R 4

(d 1,2, 33K 4

120. QaR@®  (Ethereum), ¥ (Tether),

M (Solana) 3R wTefy (Cardano)
— |l foree w9 € 2

(2) Toreet =i
(b) FEm I (Al) werdag

(c) AME-HIY (FPT=e) Aste
(@) Afewa Ym

TODC-T-GAT - C
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121.

122.

123.

124.

g&is ‘The Origin of Species by Means
of Natural Selection’ = TEF T 22
(a) = Ifde

(b) T Sifrag

(c) SR Fehfeizte

(d) HTRTHg

T pH 9 ® #ma smer am

(human alimentary canal) ¥ Tsmeq
A ok fofde ot o 8, 3 %

(a) AN pH 2.0 3K 79
(b) SFEY: pH 45 37 3.5
(c) A pH 95 3K 4-5
(d) s pH 7-0 3R 80
T SRSt (FOHH) R W e
& SR iy 9T 9 & s dE ek

919 I STeR qTh 9 ) /T S 6
®Y § =<h ferdm ST © ?

(a) & &
(b) SERE JFaA

(c) 3Mq:yFE I

(d) FpE D FA &



9.

120.
are all forms of

Consider
o
about Cricke lowiy
1 Cricke( Playe, Vir}gi Kslalcmems
at Kohj -
. He is g
: e
scored gey, “Aptain 1o paye
5 : ouble :
Test Crlcket uble CCnluries in

2. He is (pe

With most ¢ Indian  crickeqer

Nluries o5 , captain

3. He is the first Ind;
achieve twin !

captaincy defy

an captain to
Cenhlries on

4. He holds the re
double centyrie
Test Cricket

cord for the most
$ by an Indian in

Which of the statements
are correct ?

g-iven above
(a) 1 and 2 only

(b) 2 and 3 only

(c) 1,3 and 4 only

() 1,2, 3 and 4

Ethereum, Tether, Solana and Cardano

(a) Crypto currency
(b) Artificial Intelligence(Al) Startups
(¢) Humanoid Robots

(d) Medical apps

37

121.

122.

123.

124.

The book ‘The Origin of Species by
Means of Natural Selection’ was
authored by

(a) Charles Darwin

(b) Carolus Linnaeus

(c) Barbara McClintock

(d) Copernicus

The headquarters of World Meteoro-

logical Organization (WMO) is located
at

(a) Switzerland

(b) Scotland

(¢) South Africa

(d) Italy

The optimum pH at which the enzymes

pepsin and trypsin of the human
alimentary canal works are

(@) pH 2:0 and 7-9, respectively
(b) pH 4-5 and 3-5, respectively
() pH 9:5 and 4-5, respectively
(d) pH 7-0 and 8-0, respectively
The amount of air breathed in and out

during a normal respiration by human
lungs is referred to as

(a) Vital capacity
(b) Tidal volume
(c) Inspiratory volume

(d) Total lung capacity

C - TODC-T-GAT




125. 799 ® gufAl ok fiwmel & R o
fraffys 3 ¥ S9-w1 = g =@
g7
(2) €T ged A T o Sl § Stelfeh

._ RRIY 57 6 3R w6 et &

: - (b) TFE gEET W ARSI

| Th o A € St e R

: Hed ATTHISFRIed Th of STl §

() sm=a: freit f gow d
AR fEr afe | sk
=l Bl ©

RREH A 92 B §
126. 9 W@l 6l TgE HINT S HTT F
avs wferss gRI i feg e € 2

(a) sfo® fFad S wwheE, @R
AT, I8 31t

Irel &1 & frE
(c) @ieos wmufim 6t ofy =
frafra =
(d) & AT YT W BIF T G
127. ITAfeAgh TR AR WiSE 1 UF

el fewm ® | 2e fr=fofes &
foras dveraw & o smavas R 7

(a) TEEIoH
(b) AT
(c) FgferH
(d) ufgaea

TODC-T-GAT - C

@) =@ F aes W& e € fhg

(b) TE I ¥ GG AT W A

128. Tt & s T (menstrual cycle)
M TR FRifE gy & S Ared
Bld ®
(a) srEmm sk gy sy g
(b) 3ENRE 3R qe W gRT
(c) 3= 3K digy 5ify g

(d) T& (Wee) ok digw afF g/

129. Feafafag & @ o w mE
TER IR ke smfrar & SR FS1
e 7 wiowet (Whatt) @ @ st
27
(2) gifea
(b) zenfefee
(c) foraam=e

(d) HIFETSe

IBOWﬁ%ﬁﬂﬂﬁﬁﬁﬂﬁaﬂm
A A S 3R TR B

(a) UErwnfons fegem sk wissh
EIE

(b) WTEEIHIEAT R TR
() miﬁﬁﬁ IR TSal-
Srered

(@) =ifyer fife sik SR



125

126.

127.

- —

Which o

qtatementsne anmng the following
; ab(Jut artene l“llr‘lb

humans is NOT CDrrectS,, and veins in

(a) Arteries CaATy blog
heart while ve
towards the pe

d away from

S bring blood
art

(b) PU]IIIOH&I‘Y arteries

: alwa
o_xygena.ted blood wlﬁleysl’uii:z
nary veins always carry deoxy-

genated blood

(c) Arteries have thicker and more

elastic walls compared 1o veins in
general

(d) Ar-teries do not have valves but
veins do have valyeg

Identify the functions that are con-
trolled by the hind brain of human
being

(a) Involuntary actions such as blood
pressure, salivation vomiting etc.

(b) Controlling the regions receiving
sensory impulses from receptors

(c) Controlling the movement of
voluntary muscles

(d) Sensation of hunger or being full

Iodized salt is a vital part of our diet
as it is essential for the synthesis of

(a) Estrogen
(b) Thyroxin
(¢) Insulin

(d) Adrenalin

128.

129.

130.

The menstrual cycle in females is
controlled by hormones that are

secreted by

(a) Ovary and lacrimal gland
(b) Ovary and sebaceous gland
(c) Ovary and pituitary gland

(d) Prostate and pituitary gland

Which one of the following blood cells
type secrete large number of antibodies
during an immune response of the
body ?

(a) Neutrophils
(b) Eosinophils
(¢) Lymphocytes

(d) Monocytes

Which of the following organelles have
their own DNA and ribosomes ?

(a) Endoplasmic reticulum and Golgi
bodies

(b) Mitochondria and Chloroplast

(¢) Endoplasmic reticulum and cyto-
skeleton

(d) Cell wall and nucleolus

C - TODC-T-GAT




131. fafafaa &5 (Zones) 1 w@de |
ST s faeR & SER SRIE
‘m"ﬂ“ﬁaﬁ'@ﬁiﬁﬁq:

| 1. fryeeita & (Equatorial zone)
2. vegsEnig & (Midlatitude zone)
3. I9-ITRYAT &F (Subarctic zone)
4. T Hicatg & (Tropical zone)

T iU T gz 1 wE R 9w 9P
(@ 1-3-2-4
B I ~F~4-73
© 1-4-2 4
(d 3~1-—28d

132. %eSEIR  (Feldspar) @fw & @y &
Freafafea et w fer i

1. 3eft et YeswR & T4 @

2. THH TT A T & o9 ST
TS d% BT 8

3. @t TR ¥ FeeeUR ARy
U W T BidT &

ST H A DA/ B T wd
g/% 7

(a) ael 1

(b) Fael 1 3R 2
(c) Faa 2 3K 3
(d 1,2 3R 3

TODC-T-GAT - C

133. 5@ 9 (Sedimentary Rock) ‘ﬁ
S S

frreforfea gt w fomm Ao :
T Frafor &1
Ster gferat

1. = —  amEte ®9

¥ fafifa

2. M5 — SAfas &I

fafifa

3. 9 — ity 'Y

3 ffifa
S # ¥ @-|1/@A-4 g ae
gafera 2/% 7
(a) Fad 1
(b) &aeT 1 3tk 2
(c) =&« 2 3Kk 3
d 1,2 3k 3
134. freferfea & @ w-a /3-8 o
e R/% ?

l. EFRE @y (Oceanic
trenches)‘fﬂ”ﬁ‘mgf“ﬁr’aﬁ T |
Hdd Heaqul §

Z.W IR | = S
gﬁau‘faﬁwlﬁmnﬁ%ﬁ%m
®

aﬁ%ﬁqwﬁwmmwgﬁm
(a) a1

(b) I 2

() 1 3R 2 3=t

(@ 7 1L,T8 2

40




131

132.

ange
ifen;litng ﬂ;idef)l-lowing Zones in
1. Equatorial zppe
2. Midlatitude Zone
3. Subarctic zope
4. Tropical zope

Select the answer yg; _
below : 10§ the code given

(@ 1-3-2-4

() l=3S<k—2

(c) 1-4-2-3

d 3-1-2-4

Consider the following statements with
reference to Feldspar mineral :

1. Half of the earth’s crust is
composed of feldspar

2. It has light cream to salmon pink
colour

3. Magnesium is a common element
in all types of feldspar

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

133. Consider the following pairs with
reference to sedimentary rocks and the
process of their formation :

Sedimentary Process of

Rock Formation

1. Chert —  Chemically
formed

2. Geyserite —  Organically
formed

3. Shale — Mechanically

formed

Which of the pairs given above is/are
correctly matched ?

(a) 1only
(b) 1 and 2 only
(¢c) 2 and 3 only
(d 1,2 and 3
134. Which of the following statements
is/are correct ?

1. Oceanic trenches are very signi-
ficant in the study of plate move-
ments

2. Oceanic trenches are associated
with active volcanoes and strong
earthquakes

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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Sy — B P S E———

(shadow

P L A

| . o gk 145° F
L gficks & 105° &
E%éﬁaﬁm@ﬁaﬂ“\'s’

aﬁ%mmﬁﬁmﬁﬁ%ﬁ

fergm @

2. Pt a1 g & S & B
ot 3 e o ©

13 fog o e T A AR IR I
(2) & 1

(b) ¥ 2

() 13K 2gH

@ 1,782

136. frefafea # & @-d s@mEE o

HGAT HET-HEENKE Fechl & Heig
TE T ?

(a) IR (Azores) GIUEHE

(b) S (Ascension) gaeae
(c) T (Hawaiian) groee

(d) T¢%T T F=T (Tristan da Cunha)

137. 4R T4 % woH § Freforfeg st

Wﬁ?’l’(aﬁ'ﬁq

Wﬁr,wﬁwﬁ,aﬁraﬁw&m
(fetch) & Brar &

TODC-T-GAT - C
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I AR - v
8/%7?

2. FoRRft R S ey et 3
& W By 3

3. TEX HETHIR & o ot we o

Sttt st it = e <y
&

L

(d 1,2 3R 3

138. 9a1 i whrar & ded ¥ A
H W DA/ T w2/

1. TIFIRT  (translocation), &ad
(enrichment), TR (removal)

R TR (transformation) H<T
ferwtor w6 fafdr 3w §

2. TAFRY H, T FHOT ST STTeerd
(eluviation) TRT # &T 3K o 5T
ST % IR e (illuviation)
HREECk: TN (horizon) ¥ ¥fva
Teram < ©

N fow 1T e 1 A W IR 9h
(a) e 1

(b) S 2

) 13 23

@ AT LTAE 2

N




35, Which of the fol

136.

137.

3 low;
with reiermme to ShaW;I‘;g Statements
event of an e Zones i
"RGae is/are corpoes 9
1. Zone betwee
n 105e
and 145° from

icentre :
€p Was Wdentified ¢ the

shadow zope
f
and S-waves O both P-waves

Select the answer usin

below : g the code given

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
volcanic island chains is NOT asso-
ciated with mid-oceanic ridge ?

(a) Azores Islands

(b) Ascension Islands
(c) Hawaiian Islands
(d) Tristan da Cunha

Consider the following statements with

reference to sea waves -

qves 1S determined

. W
1. The height of d duration, and

by wind speed, Wiri
fetch

43

138.

2. The energy of a wave is propor-
tional to the square of its height

3. Waves retain most of their energy
as they travel across the deep

ocean

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

d 1,2 and 3

Which of the following statements
with reference to soil forming pro-
cesses is/are correct ?

1. Translocation, enrichment, re-
moval and transformation are
different classes of soil forming
processes

2. In translocation, fine particles are
transported downward by eluvia-
tion and accumulate in lower

honizons by illuviation

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

C - TODC-T-GAT




130 g ! ¥ SigEed ot e & ey A
fefolys suat ) ffEr i .

1. S9HES (troposphere) & HieTs
Y T W E aifi ?

2. @INHEAT (tropopause) ¥ qg <l
TEE & S TR g i
TN §

3. AvEsT § WAE 165 | &
SR R GI99E 1°F A & F gedr

g
SUYTH H ¥ SN-91 /-8 S99 g8l
g/% 7
(2) Fa |
(b) ¥ 1 3R 2
(¢) s 2 3K 3
(d) 1,2 3K 3

140.%1?1%%31?@3%%%9&3“

TITA (insolation) it 7T 3 frsar a7
FR Fq ¢ ?

. G S e R g

2. fea &t e

3. 9t R gy 3R s @ o
A 0 T e o e a v gfi
(a) e |
(b) & 1 3K 2
(c) *aa 2 3K 3

(d) 1,2 3k 3

TODC-T-GAT - C

141. St que s #R
fom & fo smge Pt
feufeat (conditions) X fa=R g -

1. iRkarifere srm & guferfy
2. WHE T T R IO AR

3. SEAER ygAt 6y wify § st 3R
el

S | X wH-a Rl e 8/8 7
(@) el 1
(b) et 2
() 13K 2
(d 2 3R 3

142. ffofed # & F19-3 v e
URIST Sl e wRa § 2

1. sifrifor s/e

2. &

3. ¥R I gRI Ao

4. 99

A T T e W R R v i
(a) & 1 3K 4

(b) Faer 2 3K 3

(c) ¥ 1, 2 3K 3

(d) 1,2,33R4




= "‘Q@\ﬁ?

140.

h :
greatest at the e € troposphere is

quator
fo: LIS temperatyre

s of t .
pause is highest aboy he tropo

e the poles
3. The temperatur

decreases at the rate of 1°F for
every 165 m of height

€ in troposphere

Which of the statements given above
is/are correct ?

(a) 1only

(b) 1and 2 only

(c) 2and 3 only

(d) 1,2and3

Which of the following are the factors

that cause variation in the amount of
insolation on the Earth ?

1. Rotation of the earth on ifs axis

2. Length of the day

3. Distribution of land and water on
the earth

Select the answer using the code given
below :

(a) 1only
{b) 1 and 2 only
(c) 2and3only

(d) 1,2and3

45

141.

142.

the following conditions

Consider and

favourable for the formation
intensification of Tropical Storms :
1. Presence of the Coriolis force

2. Upper divergence above the sea
level system

3. High variations in fhe vertical
wind speed

Which of the conditions given above
is/are correct 7

(a) 1 only
(b) 2 only
(¢) land2

(d) 2and3

Which of the following factors influ-
ence the ocean currents ?

1. Coriolis force
2. Gravity
3. Heating by solar energy

4. Wind

Select the answer using the code given
below :

(@) 1and4only
(b) 2 and 3 only
(¢) 1,2and 3 only

(d 1,2.3and4
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143.

144.

145.

e M Gl e
| S

Which
ocean of the f'ZJlloWim‘g is/
Cllrrem(s) 9 are warm

2. Agulhas Cyyep,
3. Falklang Curren

4. West Australjap Current

SSI ect the answer

below : using the code given

(a) 1only

(b) 1and2

(c) 3and4

(d) 4only

State of Assam shares borders with how

many other countries and Indian states
respectively ?

(a) 2 countries and 6 Indian states
respectively

(b) 2 countries and 7 Indian states
respectively

(c) 3 countries and 7 Indian states
respectively

(d) 3 countries and 6 Indian states
respectively

Which one of the following is the
northernmost river basin of the Deccan

Plateau ?
(a) Chambal
(b) Mabhi
(c) Narmada

(d) Tapti
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146.

147.

Laterite soil in India is rich in which
of the following ?

1. Calcium
2. Nitrogen
3. Phosphate
4. Potash

Select the answer using the code given
below :

(a) 1only
(b) 1and?2
(c) 3and 4
(d) 4only
Which of the following statements

with reference to crops cultivated in
India is/are correct ?

1. Bajra grows well in sandy and
shallow black soils, whereas red
and shallow black soil is suited for
Ragi

2. Bajra is predominantly grown in
states like Rajasthan, Uttar Pradesh
and Maharashtra, while Ragi is
mainly cultivated in Karmataka,
Tamil Nadu and Himachal Pradesh

Select the answer using the code given
below :

(@ 1 only
(b) 2 only
(c¢) Both 1 and 2

(d) Neither 1 nor 2
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148. Match Ligg g With

149.

_ : Lis
NSWer Using (he ST and select the

Lists “ode given below the
List I
(Mineral)
A. Bewar
L. -\'Ianganese
B. Balaghat iy
<. Mica
C. Bil .
i 3. Iron-ore
D. Ball
- 4. Bauxite
Code :
(@) 3 1 4 2

(b)
) 28N 1

d 20780 1 _3

L

I
—
b

(WA

Which one among the following is
NOT a beneficiary state from the
Vindhyachal Power Plant of the
NTPC?
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150.

(@ Gujarai

(b Goa

(¢) Maharashtra

(d) Uttar Pradesh

Consider the following pairs with
reference to Thermal Power Plants and

their location in respective states in
India :

Thermal Power Locared Iin

Plant Srate
1. Panki —  Uttar Pradesh
II. Parli —  Karmataka
M. Vijayawada - Telangana
IV. Vanakbar —  Gujarat

How many of the pairs given above
is/are correctly matched ?

(@) 1
(®)
(c) 3
(d) 4

(§%]
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